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4/ a) Find S Isiac (I ol .

By Porseveals Theorem,
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S 1% fsine TOSI* ol

b) Findol y_iSinc(x> Ax.
?{S’mc& (I:B z g.:s’»nc(x\ C—‘.szk b .
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2/ One C‘xamF’C of such a funcdion is an
CoﬂS'lan{ -ru.nC'l'ion ‘Y('“"'C’ L.)Lere C€/R, 7

A more 'nr\“ef(s\"'ana '?unc‘hon S

)= 3y cos (O tro .
o ¢t= O

_1/ a) T he ou+6>u" a'r a Lin€ar shift I pveacriant

S't/S*!em e?,uc-ls
= X % L\
chr‘c h is the ;m‘)u.)tt rcsfaons«'.

When 2 ()= exp(ianmBt),

v (4) = S:;A(ﬂ exp (;,?w-f’(f-agoh
= exp (i2n{1) y:lu(ﬂ &3 1y
= H(f) ex‘o(;lwﬁﬂ.

This shows that () =exp (i 2284) is on
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b) Consider £(1)= (g hA).
g = S aw) et
s () = (f.:c(/c) c’“"",lt)* h (1)
- e Je*™ e ht\] st since * is lincar
TG HOY ™™t Seom port ).

< FeRY = TEeS(K) = G (KYH(K). =

5/ & Tixryfs XV » Bk,
) Tixyfs X*x ) » B= %,
) L= xxu, » F= X-Tiudi.

T = h[sw-7=1
Since the wpport of ?’f“g is IR,
the bOnonsijl’qﬂ o F e?%als "Aq‘* o‘r X,
.,.)\«'lcl'\ 'S 7;..
ol ) J(Y): x(¥) cos (277).
5 GCRY = XCBY ® U (SCE-IY + S i)

< L[ X k=) e x e

B = .
&) §(»)=x(v) ™™ o F (k)= X(k) SCk+1).
B = 3h .

4’)3 = (7:*73'. s G(kY= Giank) ??x*y_{(,e)
= (i2ak) X (K) Y (k).
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2] Review the cevious homework for the
ransger eun‘:+;on$ of 1the 'p‘nrs', T cireui $s.
R, s
0 € v (1) :‘—T v (1)
VIR __Zeo XY wheee 2o (K)e ——
2" *2‘ J 52"!’/(&,
Since the wvollage <1 beth inf..cl Yerminals
o the oPerq‘ligncJ amP“‘fier are eg,ual,
V(K= Ry N ohere 2o (k)s —
ZCL*R]_ JJT\'kC'_
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